1:2,5001 £ &

+135.0

+134.5

+134.0

+133.

Lo
<
"
‘ +135.0
=
)
"F
i)
=
yic
£
b
+134.5

+133.5

+36.0

il
. IR
1&

X

=
&

TR 8F

IS

TR 19F 28
TH28F1 18
TH29%F 38

1:2500

200
I

400
I

500m
1

COAEARII. EEREROERE R/ CARMMEDRENREERL TRIZEDTH D,
(EERES) F28UAE33S

STEEE N

(==

X
o~

=]
fn ZE & N & &

ot

1 IR
-t M
\g v
4 5 6 w%é 23
R\g 9 10 27 T o2s [N 2e
. )
12 13 14 | a5 | 27 | 284 23
\ e,
\ \\ f
16 17 18 30 31 &?2

! \
\Lﬁ% 20 [ 33-F 34 §5
] . A
| s
|
2

i
36 37 58

/\/\r‘/I
59¥1 40 41 42
43
= —
g =
A 37.2 = #fA =
] BB EY ) o104 Kk oE =
= ZEARUE
:l;l A SEY o 14.8 S NRhE
T wames | £256 B FEES
ffffffff B0
i 25.6 200
] mromms B
———————— 18.7 ﬂi 7%% /ﬁlfﬁ
ICHDEER
H 1 ot . P
t % B2 m 2 P
+ U2 h#E - g =
X 2 " A = &
&) % B 5 g 0 B
X XE .« BEIEFR o B - AR
v Mo = - oo S
@ b = L = I
Tt T B il E = B
oY z B 2 7 %
w B =5 0% VA
P xXoOE E o 2 = #
~ BERORY TS i V& el
o BB.x@T B KB
o T oA = o 9 v
VAN B ooH P ) B &
A B = F < e, =
& BB = 2 B E ™
X o B IR 2 TV ~ i} 0
® N NRER " B 0
g i = S Bk - ST
@ I & BR - R
® ® PR R M oR B B
® % @E 8 H b B
® LR - (REE A g
Cemee e T B
® AV EMIS .
i = KEHATER
® g == B
E—— i ﬁ z i
ffffffff E OB OB : -
******** — % b=t
———————— ® 5 = CrE———d J5vRhh—A
=T
Camgy | RRTOBR o
Ll Y gEmry
=—— 51 -su% TT 7/ EEORRE
e EW S ERE — T T— #$EOEBLE
:jilffhf’ﬁﬁgnggLeg s
ooooo Iﬁ 7& =t % f@ il
mrr:r_ﬂl‘t — \%t B #V?
AT®E | T 2=
ow o= X & &
A SE ==
—————————————— B & =
————# # R
—eo——e— B B R ———— e Bl FRHORR
——e BEOEFR ——— e — U SRHRORR
—— kW (DR
n ° 2o | T
LB L |xm| T
~ \2
1B = 1, (Lt
~ \
v e © 0x B -
LIEOR| . o8 B |0
Y A g (o T |puy
ER A 5
y LoAE o | it
= I
e e w ML

ﬁ%é@ﬁ@é%
E S

EERQER 2 2FELIXBEETE289SDRE
CEDENERER

BER>EX LA NILEE
HNBCRTILUTHDIERETIFOX - HILBAL
BCOEEQIRREDEYEE

FEROBRE2 X—H)L

(THEAERELS. HRAMBWRCID. |

41



